<< 20204 2st7| £=ZX|E >>

7]: 88 6¥(5) 10:00 ~ 8 7¥(E) ¥ 12:00

* ZZMHE 7|12 X 8H 12Y (%) 08:00 ~ 8H 14¥Y(Z) 18:00

(2xhH 8g 182 (=h 10:00 ~ 88 19&(=hH 17:00

%l

o

=

7L|
- 3l
m
=n 00
ol

5
ol 2
ol
=~ ol
€5
il <
oy <k
onr_u_:
2 Ho
ad
N -
RO K
RO~
N0 Mo
&+ ®
X X

=
o

H 7t

M0 SAtS)

—_—
(=]
-

2ot M. 98 3¢ (/) 2

JA| stiltEH o[ X|of B2

Al &
- O

O

(

| 27

S OFf L Ct.

AFCH
o O

o> HFEA| X|Z @2}

gl
o

ok |
o |X0
EZip
*%xo
00
07
(qV]

K4,
S |20
71|
who
OO
06
(@V)

Jor

2 42 o8

S g

(o]}
AA

| 5O

of

o2 HZ 7tM ME=, A2

.
[}
o



t=HOIX] MAXtE H)

Fl
ol

{oF

- 20090|

Kb RO Km0
~ o o ~ i~ ~
3 S 3 o I s
K 3or K 3or
i i
T T
.._A._ © © .._A._ © ©
ol — ol —
ofl ol
Ho < Ho <k
of |~ fHo ™ of |~ fo ™
<0 zl <0 zl
2 ~ 2
o = iy o [=
Ho| [oll & o Hl Ho| ol & ©0
oo 2 ™ Ho oo & ™
[ K [ LK
Rdlro ~ Rdlro
pal pal
Al Al
MK & N MK & N
Ho & o Ho & o
K- K-
ol ol
Xl o o) X & LN
00 T - 00 T -
g g
00 00
= <k = <
m___ < ~ m___ S o
o0 — sl o0 T =
E ol E
ok
IH K0 o K K
t | & (2| £ | @
™ <k o ™ <k
El IS N El 1)

B
80
<

=
w

=
o0
E

489 3822 / 63T

B QIEE[X] EELCh (B, 2=0 SH0A Fof

ol

>
=

t= il o] x| off

AALZHE A

3

=

e
o

o

e
o

2 A
2 X[8l 40|

=

b= M| 33104,

-
St

A
T

{X=RAeH, EH=E2 7

IIE

7] ZIASS RN O

st
Mol X544 mnt=0| M3 ®7[5H0]

—

—

= 2/=0{(0, 20/
A

5

e
o
e

H el
- (GiIA) 2019% 2

Ho




1+

Ka

Klo

o/

s/v oF

HE[O|C|ofolool of

0| o[ ==X}

o

2
oM 27’8 £ &

EREEER

2M=

AFE AlE2o]d, HXt

2,

B

2, ITet

O{(I),(I) O|0|4=Al: e 8HO{(1),(IO) Ol

)

AL
T

98 162

LICk(7] %

3

o
o
=

2 MYAM ME5HofoF

IoN)

ar
8o

1

H=Zo=2 ChH

B

(in-> &

=13
=1

P

L|C}.

=13
=

Z ol 4:sfof

P

of, WHIFTIZ|EA, dMFZ=EA

o .
o

OF: MA|

. I

xJ

A

Ho

i
=}
IH
zd

Kd

x

%

Ho

Ul

==
{0
*

olof MEfsHA Ofot FLILY.

Il

e

x
(=]

Ho|H, 20203 AZICHS

o
(=]

Ak ZH o] x| of

3 9 FxicHzl o FHo

OfFAM 2!



ro
jol
KO

&

AH 30% +

F

-
o
=

7| 48 70% + of

712k(8/24(#)-8/28/(8)) Ol SE=

oju

ol 24
H =

A|AHEI_PASS Of

T, x| 2

or
LS

: (2Xh2020. 8 = O™

ol g

PR =1 O X[of| A A E (www.kosaf.go.kr) /

=

o = A
'éJ ST

=9|: (2XhH2020. 8

2
xtS
(]

7t

=

ol

1

10
KO

=<

At
(=]

XEA BN 80 O]

| E{(1599-2000)

ol o]

i

0

2

Q
_.:m

|

I.

E2EAL 2 404
7|17k

(http://onestop.pusan.ac.kr) /

INES=

&

Al
o

O

THK|

2

: E9 900F O|4f, =[CH 50¢

oy = ¥
=1

3

g

N
Vi
)

g

t

.
o
=

23

o



